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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O] AR oed fal

(a) Mention one need for studying
economics.

WW@W&EWW@I

(b) Define market economy.

ISR Ao @ T4 1
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(2)

(c) What is elastic demand?

fefowors oifzm &9

(d) Draw the perfectly inelastic supply curve.
oo SRIOZIF M (ILCE & I |

(e} Define an inferior good.

o8 WA e fet |

() What is income consumption curve?

1 Tocslst ({91 [F 2

(g) Distinguish between short run and long
run with the help of fixed and variable
- costs.
7 oo RSNl 9 4RIR TEES 2
HF I YL [efy T4 |

(h) What is producer’s surplus?
T Tge 1957

() “Supply curve is- not relevant for
monopoly.” Why?

“ IO ITRS QNN (@R AP 118 17
a9 .
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( 3)

() Why is the average fixed cost curve
rectangular hyperbola? |

TS %9 I @Yo R SHew ~[ge 79 2

2. Answer the following questions briefly : 2x5=10
Ooq 2HCAIRA B Te] f

(a) Distinguish between positive economics
and normative economics.

ISR e TS o i wLRNo7 Trow
NYLF] 7 1 |

(b) State two exceptions of the law of
demand.

oI RfEeo w61 ey Seay w41 |

(c) Distinguish between ‘change in demand’
and ‘change in quantity demanded’.

IR TS W “DiRwg AR ~iRadT's
Teo 2129 e 91|

(d) Prove that two indifference curves do not
intersect each other.

AT T @ YOE REeerw (IAR IR0 IR
(TGS |
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(4)

(e) Why is the long-run average cost curve
‘U’ shaped?

RHFTE 51C IR (I9IerE ‘U Sgpfoq [ 282

3. Answer any four of the following questions :
Sx4=20

wed 2R R e sifnR Tel fua -

(a) What is budget line? Why does the
budget line slope downwards?

IEE QA T2 ACEG @ Y oEwE N
Eul |

(b) Distinguish between normal goods,
substitute goods and complementary
goods.

TORE A, Rew TR o i T
Tere 12 efg o1 1

(c) What is monopoly? Explain why the
glargina_l revenue curve of a monopoly
lies below its average revenue curve.

SOOI TR e 1 | qFosH TR AR
R @ [ st oy QIR S TqIEH IS,
AT 47 |
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(S5)

(d) Explain the behaviour of profit
maximizing firms with the help of
marginal revenue and marginal cost
approach.

AT I T A IE RIR T2ES qS
FT 91 ATOOT =09 QI 491 |

(e) Explain that substitution effect is always
negative.

AN 9 @ AfSFE R w449 |

(fl Derive demand curve for a Giffen good.

focea AR 53 R (AT WA I
IGRIl

4. Answer the following questions : 10x4=40
o] 2PCAIRT el i

(a) Explain how the price system allocates

resources. 10
v AR (FOME AME SRGT ¢, A
911

Or / Y1

What are the main problems of an
economy? How does a free economy solve
them? 3+7=10

GYfey T APHER B B2 T 9w
IR G2 FPHIAR (FCIRC AL FCS 2
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( 6)

(b) What is price elasticity of demand? What

are its determinants? Discuss. 3+7=10
o W fefereme 57 TR fRdsenz &
& 2 steES 310

Or / 9371

Explain the concept of marginal rate of
substitution with the help of diagram.
Why does marginal rate of substitution
diminish? 6+4=10
foqq e afes afcedsm g9 «RACE Im
411 i 2AfSTs T 77 TRPHA =5 2

(c) Explain the determination of wages
under competitive labour market. 10

ARSI 2T IwRS TGR ~h@e aifemm
T A0

Or / 997

Derive input demand curves. Discuss the
factors responsible for shift in input
demand curves. 6+4=10

TAMR IRl (I JoARE 917 97 | SoAmIee
SRl (R FAISRS (TR PR SCATA

911
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( 7))

(d) What is price rationing? Analyze the
impact of price rationing on the market.
2+8=10

7 eredqd {$ 9 w3 ST IWH SIS FT
* 2ST ReE™e 340 |

Or / 941

Discuss the factors responsible for shift
in the demand and supply curves. 5+5=10

mﬁmwmﬁmmmﬁwmﬁzm
SIS 41 |
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